> — 3K
& '7 f = BE 2\ . I
101# a8~ 8 & Fefra i A | 3 #34 B 1 42730 (&3 )
= IR S

iy RIS S R i3
i P ML o Fme
GEEE 130 4 5L
PR (_);kzs,L A RFE R
O3 WAL (R RIS §RERIAD BREL AR TR 75
ERFLAPH 2R Pl BHR AR R RUARE P S 7L IR K

|
-3‘\1;,

\

7 4cB®l- v 2 %4 - AB-BG-BCDF-DE = ~ 2355 k% ; A~B~G-D-E
B

£ RS o SRR - R “Aﬁm@p%*“ﬁ?% i
BF] s Ar i ,Q_;»L‘.:Fj# B IZ:r‘]'I‘;\'ZEf-_ P A A “EEA gz F4 o (254)
p F
A
B H D a
A =% T
VS c il
a
G e
a a a a
]'g]__
CACRl S T M R RE R LR o R TR AR TR 4R L
o

BThd R REEAKEE HER RS (25/77\)

¥ P=60 kN

4@3m=12m

Bl =



101 # B 48 ¥ 38 = oo ir A |
£

AR g
R
B y SR A1 A%
7 ORI S R
= KT AR Z T 2 R AT
EIRERC BV k= IR VA E Sl

SETES S 2 %ﬁﬁé’QMMEEﬁﬁﬁﬁD%xi
Fé‘ *C 22 i’

X &P
¥ 20y o (254 )
P
YD .
A
(EI = constant)
L
” A B .C _ v
~ 2% 75

LlﬁM&@ i
1 cmo K7 2
Tave® kT mw (25 ~)

» A% 16 |‘(N7 ’J\'IJ ’

T4 WG =1x10° N/m

KB

5 8cmx8 cm:>
R @@%u,;hw@J

5 A

: 42730

4 PIE* o dh



